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1~t*,s JtA : 1 Ji 13 S(£JtA a) ~ 2 ~r 10 Ai{!' 

3. 	 (10%) >T<- r 7Ht;k(homogeneous) ~,fM.~ ~;f1..i\ a9 M: 

dy + 5y = O. 
dx 

4. (10%) >T<- r 71j $~ "ilf-;k(non-homogeneous) 'f1ift1t:#:f1.;\ {j~ f4~: 

dy
- +5y= 5.
dx 

2 
y + 4dyd 4y O. 

dx2 dx 

6. (10%) ¥ r 7IJ~.tt 69~.i*~.iJtJH'"~~ (Laplace Transform) 0 

f(t) = t et cos t. 

7. (10%) ¥r7IJ~.tt691l...:t.i-t~.i$Jfff.~~ (Inverse Laplace Transform) 0 

s 1
F (s) = ----c--:::--- ­

8. 	 (10%) >T<- r 7Ht i:" ~tt~~~Jt(gradient) 0 

1 
f(x,y,z) = 2 2 -2' 

X +y +z 

9. (10%) >~,f.Ji:~tt F(x,y,z) = (x, y, z) a~:ak.Jt(curl) 0 

10. (10%) )t<-#"i:~tt f(x,y,z) = xy + z *i-41~ r(t) 	 (cos(t), sin(t), t), 0::; t::; 211" {j9j;*~7J-{Ji 0 


